
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 78 0 3 81 0 0 3 0 0 78

2 शçुक गाय 51 0 3 54 0 0 2 0 0 52

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 156 0 2 158 1 0 1 0 0 156

5 मादा बÍचे 37 0 0 37 0 0 2 0 0 35

6 सांड बछड़े 19 0 0 19 0 0 0 0 0 19

7 नर बÍचे 32 0 0 32 0 0 0 0 0 32

388 0 8 396 1 0 8 0 0 387

1 दधू मे गाय 8 0 0 8 0 0 0 0 0 8
2 शçुक गाय 8 0 0 8 0 0 0 0 0 8
3 औसर 3 0 1 4 0 0 0 0 0 4
4 मादा बÍचे 4 0 0 4 0 0 1 0 0 3
5 नर बÍचे 2 0 1 3 0 0 1 0 0 2
6 सांड बछड़े 1 0 0 1 0 0 0 0 0 1

26 0 2 28 0 0 2 0 0 26

दधू मे गाय 8 0 0 8 0 0 0 0 0 8
शçुक गाय 27 0 0 27 0 0 0 0 0 27
औसर 25 0 2 27 0 0 0 0 0 27
मादा बÍचे 18 1 0 19 0 0 2 0 0 17
नर बÍचे 11 1 0 12 0 0 0 0 0 12
सांड बछड़े 8 0 0 8 0 0 0 0 0 8

97 2 2 101 0 0 2 0 0 99

दधू मे गाय 3 0 0 3 0 0 0 0 0 3
शçुक गाय 2 0 0 2 0 0 0 0 0 2
औसर 17 0 0 17 0 0 0 0 0 17
मादा बÍचे 2 0 0 2 0 0 0 0 0 2
नर बÍचे 1 0 0 1 0 0 0 0 0 1
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

25 0 0 25 0 0 0 0 0 25

शçुक गाय 2 0 0 2 0 0 0 0 0 2

538 2 12 552 1 0 12 0 0 539

1  गाय 29 0 0 29 0 0 0 0 0 29
2 सांड @cSy 68 0 0 68 2 0 0 0 0 66

97 0 0 97 2 0 0 0 0 95

1  गाय 2 0 0 2 0 0 0 0 0 2
2 सांड @cSy 13 0 0 13 0 0 0 0 0 13

15 0 0 15 0 0 0 0 0 15

1 गाय 0 0 0 0 0 0 0 0 0 0
112 0 0 112 2 0 0 0 0 110

650 2 12 664 3 0 12 0 0 649
* TWH - TRANSFER WITHIN THE HERD.

A

B

कुल 
A+B

कुल 

कुल 

जसê

कुल जसê

TWH 6-
(7+8+9+10+11)

TWH*
(3+4+5)   


